RA)ITEREREANAOEST
& 6 F£ 12AFXRRE

JL kb =

EX I-Sl':'l IEJIL A ] % H

i A 0

i % “ it
o~k 390 (2 385 ( 3) 775 ( 5)
LR 2 Do[fERRIE 2 0 |WERRIE 2.0%
£ 580 (1) 524 ( 4) 1104 ( 5)
C|HERRHE 3. o|WBEUE 2. T |HERKE 2.9%
o~tthdZ t 9 670 ( )| 1392 ( 4)
|MEeRIE 3. Po|HERRHE 3.5% (ML 3.7%
15~19lee 804 C DI 735 ( 21)f 1539 { 24)
R 4 Do|MEEE 3 0 |HEEE 4.0%
00~24 b 876 (35) 633 ( 116)[ 1309 ( 151)
T T |WEERE 3. @k [MERkME 3.3 |HEUE 3.4%
s~ oglee 723 ( 53) 547 ( 68)| 1270 ( 121)
AR 3 oML 2.8 |HEUE 3.3%
sisal 328 { 2D 613 ( 41)] 1341 ( 68)
C|MEEKIE 3 Po|WERKEE 3. 2% |HERRIE 3.5%
magl 900 ( 21) 720 ( 15)] 1620 ( 36)
C|HERRE 4 S| fERKIE 3. 6 |HERE 4.3%
0~a4le 974 (10) 904 ( 22)| 1878 ( 32)
| |MRRK 5. 20[MERREE 4.6 WK 4.9%
i5~10l.0 1285 ( 5)f 1066 ( 25)] 2321 ( 30)
_ |MERIE 6. o MR 5. 5% WAL 6.1%
s0~51heaed319 C DI 1282 ( 32)| 2601 ( 35)
_|MEkE 7. V6| MR 6.6 [WEE 6.8%
=50l 1380 (  5f 1293 ( 42)[ 2673 ( 47)
UUEEE 7. Q6 HEEE 6. 70 |BEUE 7.0%
60~64lea 1305 (20 1180 ( 19)f 2485 ( 21)
C|HERRE 7. Qo |tEEE 6. 1% |HERRIE 6.5%
s~eol . 1459 ( ] 1409 (  5)| 2868 ( 8)
AR T Q% |HERKE 7.3 [HERKE T.5%
to~71lp 1633 C 2] 1728 ( 4)[ 3361 (  6)
CU|MERE 8. S ML 8. 90 | MR 8.8%
75~70ka 1512 (D] 1771 )| 3283 (1)
|HEERIE 8. o[t 9. 1% |HERKIE 8.6%
80~84lee 1142 (D] 1506 ( )| 2648 (1)
IR 6. o |MERRIE  7.9% (MR 7.0%
as~gob 747 ( D] 1238 ( )] 1985 (1)
DA 4 6| MR 6. 06 [WEUE 5.2%
90-<04 326 ( ) 827 | ) 1153 ( )
ARt 1 Te[tlARME 4. P (WML 3.0%
95~09 VB 1) 295 ( ) 366 (1)
C AR 0. Po[MERRIE 1.5 WA 1.0%
100~ § ) 51 ( ) 62 ( )
C|HERRIE 0. Do|HERREE 0.3% [MERkE 0.2%
sy | 18657 ( 180)] 19377 { 417)] 38034 { 597)
T |HERUE 100 | WERCEE 100, 006 | HERRIE 100. 0%




